Po Professional PROFESSIONAL EXAMINATION BOARD

Cb examination Pre-Polytechnic Test (PPT) - 2018
board 15th April 2018, 02PM

Topic:- Physics

1) A man increases the speed of his car from 10m/s to 20 m/s on level road. The ratio of the final kinetic energy to
initial kinetic energy is: /

THAA HSP UR Uh AfRT U1 ST B °ITel B TSTPx 10 H./A. | 20 #1. /3. Fear 21 Sifaw nfast Suit &1 RfH® Tfast St
¥ IJUTT NI :

1. 2:1
2. 1:2
3.4:1

4. 1:4

Correct Answer :-
o 4:1

2) A body of mass 10 kg is moved on a horizontal surface with a velocity of 5m/s. If the mass is doubled, then the
frictional force will: /

10 1. soom™ & U e &) 53/, F A7 A o Wag R T Srdn 81 afS sorH SIET 8t o 8, df afur g a gh
1. be halved / 3T 8 ST

2. be doubled / QT BT ST

3. remain same / GH g

4. become four times /El'IT‘:HTEprI U

Correct Answer :-

« be doubled / RIAT §I ST

3) The passenger falls forward when a driver of a bus suddenly applies the brakes because of : /
Y I BT TP I3aR SATH b T 8 af It St Y 3R AR ol B, 39T dIRUT R

1. high speed of the bus / TG P ool I

2. inertia of rest / favTH &1 e

3. inertia of motion / Tfa &1 Sigd

4. high momentum of the bus / & &1 3= HaT

Correct Answer :-
« inertia of motion / 7T &I STed

4) Which among the following can become negative? /
Frafafae & ¥ @19 91 BuTas 99 JHar 82
1. Speed / 9T

2. Mass / ogH



3. Velocity / a7

4. Distance / Q31

Correct Answer :-

« Velocity / 9T

5) Work done by the frictionis : /
o1 gRT f3rar T B §

1. Infinite / 3 d

2. Positive / YTHD

3. Negative / BUTHD

4. Zero /[

Correct Answer :-

« Negative / BUTHD

6) The lateral displacement of light beam which is passing through a glass slab depends: /

TS T U | oA W ISR fHurge &1 uiRde fawmm fa w ik avar g :

1. only on the angle of incidence. / $Had A DIV TR |

2. only on the thickness of the glass slab. / Had T t@'ﬁ 'EﬁE'l'sctRl

3. on both the angle of incidence and the thickness of the glass slab. / 3{Tdd" HI0T 3R T Us $I HIeE Gl R
4. on critical angle. / Fifdd ST WRI

Correct Answer :-
« on both the angle of incidence and the thickness of the glass slab. / 3TUT BHIUT 3R T U Bt HICTs Gl G|

7) Sound waves travel in the form of : /

G R T FUA AT BT @ :

1. Only compressions / Had gded

2. Only crests / FHad R

3. Compressions & Rarefactions / e 3R fave
4. Crests & Troughs / fARaR 3R 3oy

Correct Answer :-

« Compressions & Rarefactions / Tfie 3R faver

8) Who among the following produces ultrasound? /
Pl # 4 P TRISS SUT HdIe?

1. Pigeon / R

2. Dolphin/ Slafth

3. Elephant/ ET?—ﬁ

4. Rhinoceros / TZAIRRY )ﬁ?;T 9

Correct Answer :-



e Dolphin/ Siaft

9) If a sound wave of frequency 3300 Hz is propagated with a speed of 330 m/s, then its wave length is : /
Tfe 3300 g Mgy &Y eafy a3 330 WA, F fa A TaRRa F oA 8, A sTBTRT AR

1. 10m/ 109,

2. 100m/s / 10071/,

3. 0.01m/s / 0.01¥1/3.

4.0.1m/0.19t,

Correct Answer :-
e 0.1m/0.17.

10) Which one of the following statements is CORRECT about magnitude of displacement? /
frafafEd 3 @ o4 1 w3 fawimes & ufamor & IR 3 w@ 82

1. It cannot be zero. / g I qEET_an HohdT|

2. It can be less than or equal to the distance travelled. / I8 T Pt Tléi'{ff Y HH T ITP TRIER g1 Jhal g

3. Itis never equal to the distance travelled. / Ug w1 ft a3t Tl'sf E"{ff & TR qTE?[EPIT‘IT %I
4. It is greater than the distance travelled. / Ug dd Gal ‘T’é’ ﬁ T 3 E;T(_‘IT %I

Correct Answer :-

o Itcan be less than or equal to the distance travelled. /WW@‘T&?@QWW RS CSRISE E?f Hohdl %I

11) A person runs with a speed of 5m/s for 2 minutes and then witha speed of 4m/s for one minute. His average speed is:/

%mwﬁrzﬁm'%ﬁm5ﬁ./ﬁ.ﬁmﬁm%ﬁ?mwﬁw$m41ﬂ./ﬁ.aﬁ T | I g1 TP N I

1. 9m/s / 9H1/A.
2.9.8m/s / 9.8
3.4.5m/s/ 4.5H.A.

4. 4.67m/s / 4.67H.3.

Correct Answer :-

« 467m/s / 4.67H.3.

12) In a uniform motion, the speed-time graph is : /

TP HHM T §, I76-999 16 a1 6 -

1. A straight line going down / BIEIEE] UTh Tieft Y@

2. A straight line going up / SR ST TE T et v

3. A straight line parallel to the time axis / HHI & & wmw%ﬁ%ﬁ%@

4. A curve bending upwards / $HUX DI TRD P RITDh deb

Correct Answer :-
« A straight line parallel to the time axis / JHI &l & waﬁﬁ%@

13) A scalar quantity has:/



TS Afem AR AT R :

1. magnitude only but no specific direction / FHad AT e aﬂ‘s‘ fafRmy fo=m =7et
2. direction only/aﬁa fa=m

3. both magnitude and direction / oo IR fe=m gt

4. neither magnitude nor direction / - @ afmmor sk = B fa=m

Correct Answer :-

» magnitude only but no specific direction / FHad Ry Wﬁém Q=M gt

14) A boy runs from one end to other end of a semicircular track with radius 140 m. His displacement is : /
TP asP1 140 Wt B & srdqamer 9y & te RR A gk R a9 Sear 81 Sue1 fawimu= 8 :

1. 280 m / 280 .

2.180m/ 180 HI.

3.140 m / 140 .

4.493.6m / 493.6 Hl.

Correct Answer :-

o 280 m /280 H.

15) A body of mass 2.5 kg which is at rest acquires a speed of 10 m/s when pushed forward. The impulse given is: /
2.5 foan &1 v e ot o W 3 ot 3t 3R Yt &7 R 10 /A 35t wifay aifdfa e 81 |1 Smaw g :

1. 2.50 Ns

2. 0.25Ns

3. 250 Ns

4. 25 Ns

Correct Answer :-
e 25Ns

16) A man travels 16 m in 10s and comes back to the starting point in 5s. The respective distance travelled and his
displacementis: /

T Afed 109, § 16 W, 3 am war 8 3R 53, & IRy g wR aruy iman 31 e o 3t 8 gt ok SuwT = 8
1. Distance travelled = 16 m and displacement = 16 m /auaﬁﬂ's‘zgfr =16 . 3R fowmu = 16 7,

2. Distance travelled = 16 m and displacement = 0 m /maﬁﬂégﬁ =16 7. 3R fawymo = o .

3. Distance travelled = 32 m and displacement = 0 m /auaﬁﬂ's‘@ =327 3R fowmua = o 7t

4. Distance travelled = 32 m and displacement = 16 m / dd P TF.ic 'g{ﬁ = 32 7). 3R farmu= = 16 #).

Correct Answer :-

« Distance travelled = 32 m and displacement =0 m/ auafrﬂ's“gﬁ =327 3R =g = 0 .

17) A man went to a trip. When he started from his house, the odometer of his car reads 1500 km and the reading was
1860 km when he reached back home. If he took 1 hour for the journey, then what is the average velocity? /

T TR YHUT B AT 9 98 U1 TR F a1, 9 ISP PR P TYAT (@NSHer) # 1500 . HfEn ft s sw a8
U TR Ug ot ST 1860 fHft. <ft1 afg g amn & firg 1 92 dAar 8, @Y s A T R?

1. 600 m/s /600 H. /3.



2.0m/s/0 /3.
3. 60 m/s/ 60 T/,
4.6m/s/6Hl/3.

Correct Answer :-
« Om/s/0H /.

18) Potential energy and Kinetic energy are types of : /
fRufae Sat ok wfos Soif s9F TR § :

1. Thermal energy / g St

2. Electrical energy/ﬁgq?[m

3. Mechanical energy / ity Sl

4. Magnetic energy/w Solf

Correct Answer :-

e Mechanical energy / TifF® &

19) 10 joule isequalto:/
10 9@ 3P RER S8 :
1. 10 kg m/s2

2.1N/m

3. 10 Nm?

4.10 Nm

Correct Answer :-

e 10 Nm

20) What is the mass of an object whose weight is 49 N? /
I I BT SSTHTH FIT §RTT FoRIBT a1 49 N 82

1. 49 kg / 49 T,

2. 5kg /5 fHuL.

3.5g/5YI

4.49g/49 YL

Correct Answer :-

« Skg/ 5.

21) Aforce of 10 N is acting on an object. The object displaces through 5 m in the direction of force. The work done is : /
10 N &1 96 U I¥g W S B3 38T 21 axg a1 31 fazm & 5 Y. fawnfya ghar 81 fvar wan & 2:

1. 10 Nm

2. 50 Nm

3.2Nm

4.5 Nm



Correct Answer :-
¢ 50 Nm

22) The atmosphere is held to earth by : /
qrgHS, gt A U GRT ST 6T 8

1. Gravitational force /W’q qq

2. Solar pressure / IR

3. Ozone layer / IS wRd

4, Magnetic force /ﬂ_ﬁlﬁq qq

Correct Answer :-

« Gravitational force /W’q EN

23) The vibrations or pressure variations inside inner ear are converted to electrical signals by : /
3R HUf (3R 9R) F fieR Hu a1 g19 = 39 gR1 Awreht & Rra & iafda g § :

1. Cochlea / UG (ShIpTor)

2. Pinna / U (fﬁ:ﬂ)

3. Tympanic membrane /Eb_UfCIE%' (%&ﬁw ﬂﬁﬁ_ﬂ

4. Anvil / TS (TAf3@)

Correct Answer :-

« Cochlea / FUITaRT (BIebferm)

24) Which one of the following statements is correct about wave? /

fFrafafEa § 9 o9 91 0o FYF T S IR A wE 32

1. In a wave, energy is transferred but not matter. /WWﬁ, Wﬁ@—ﬂﬂﬁﬁﬁ@?ﬂ% @fﬁﬂi{wq—ﬁﬁl

2. In a wave, neither matter nor energy is transferred. /T T ff, IR ART %3[ Folt AR Eﬁ?ﬁ %I
3. In a wave, matter is transferred but not energy. / T %7 H, God RIFIARd BidT 8, AT Foil g! |

4. In a wave, both matter and energy are transferred. /W?‘R"‘Tff, ) sﬁvwﬁaﬁwﬂa@ﬁ%

Correct Answer :-

« In awave, energy is transferred but not matter. / T T¥¥T H, 3ol RIMIARd gld1 €, AT 5o gt |

25) What is the shape of the Milky Way galaxy? /
AT MHTRAAT (Rres 3 R &1 emer ST 82
1. Circular / MATBR

2. Elliptical / S¥qaiaR

3. Spiral / gfta

4. Regular / IMH

Correct Answer :-

« Spiral / gt



26) ‘P’ is a hotel on top of a mountain peak of 4000 m height from the sea level. ‘Q is a house in the Japanese coast.
‘R’ is at the bottom of a mine, 3000 m below the surface of Earth. What will be the gravitational pull of P, Q and R? /

P S a6 F 4000 HeX FATS Y ydd AR F FW T gled 81 Q, 9! d¢ & T TR g1 ‘R’ T &1 wag A 3000 H =
W™ & dd W 71 P, Q 3R R & ST HHUT T g2

1. The gravitational pull will be the same at P, Q and R. / WHW P,Q 3R R R IAH g
2. The gravitational pull at P and R will be more than that at Q. / P IRRW W’q EFQCUT, Q T 3ff g |
3. The gravitational pull at P and R will be less than that at Q. / P 3R R WW W, Q I HY AT

4. The gravitational pull at R will be more than that at Q, which will be more than that at P. / R IR W’J YU Q Jfm g, s fe p Y
3R g

Correct Answer :-

¢ The gravitational pull at P and R will be less than that at Q. / P R R WW W, Q I HY ghT|

27) In a museum, a boy stands in front of a mirror and finds that his image has a big head, normal body and small legs. This is because
the mirror is made up of three different mirrors arranged from the top to bottom as: /

TP JUTTAY §, Th TS T GUUT & AT TSI BT & 3R 31T ¢ P 39 ufafera &1 RR 7818, IR IURU 8 iR W Bl
251 31 sHfere TP ag gdur, FiF sremT Ul & fAra®? 391 @ ot SR & 9 39 UoR afud g

1. Plane mirror, concave mirror, convex mirror / JHJ E«'TfUT, 3{ddd T:('ﬁ'UT, Jad guur

2. Concave mirror, convex mirror, plane mirror / 3ddd ?:("d:UT, S E"d:UT, JHA E"CfUT

3. Concave mirror, plane mirror, convex mirror / 3{ddd ECT'UT, JHdA E"d'UT, RIS NEALY|

4. Convex mirror, concave mirror, plane mirror / 3¢l E("CfUT, Hadd E'CT'UT, JHIT E'CT'UT

Correct Answer :-

« Concave mirror, plane mirror, convex mirror / 3{ddd a'd'UT, JHA E'CT'UT, Sl E'CT'UT

28) Which of the following is the unit of acceleration? /

fFrafifEa & A $19 @Ru &) 7o 5518 72
1. cm/s/@'ﬁﬁ./@.
2. km/h / fopeit /eieT

3. m/s? ) I

4 m3fs | HET.

Correct Answer :-

m/s? | HIT?

29) A boy travels a distance of 16 m from X to Y and then moves a distance of 12 m at right angles to XY. What are the distance
travelled and the displacement? /

TH ASHT X H Y T 16 Hiex B g8 70 Ha1 § SR R Xy & T0aior R geas 12 Hiex $1 gl 79 ovar 31 0 ot =it gt
3R faeuT= 32

1. Distance=28 m, Displacement=20 m /@ =28 Iﬁ., RO = 20 .
2. Distance=28 m, Displacement= Zero m /ELRQF =28 Iﬂ., fawimg = o #t.
3. Distance=4 m, Displacement=28 m /TgRof =4 Iﬁ., o= = 28 .

4. Distance=20 m, Displacement= 28 m /@ =20 Iﬁ., faeurg = 28 .

Correct Answer :-



¢ Distance=28 m, Displacement=20 m /EBQI =28 Iﬂ., foRITo = 20 .

30) At night, air blows from the colder land to warmer sea. This is known as : /
A A, ga1 S8 4 A T ays F iR Tadt 1 s P R

1. Air breeze / gdl IR

2. Land breeze / @ THR

3. Sea breeze / IH% R

4. None of the above /m ﬁ's‘ oft T‘|_E?f

Correct Answer :-

o Land breeze / '{&[ iR

31) If a radioactive element reduces to 25% of its initial mass in 1000 years, then its half lifeis ./

afe ue Meurafra aw@, 1000 aut §, 30 YRS SUHH $125% S ST 8, A sABI fgemg R
1. 100 years / 100 9

2. 600 years / 600 T

3. 500 years / 500 T

4. 200 years / 200 Y

Correct Answer :-
e 500 years / 500 ¥

32) A whistling engine is approaching a stationary observer with a velocity of 110 m/s. The velocity of sound is 330 m/s. The ratio of
frequencies as heard by observer at the time of approaching and passing of engine is: /

T R Nafeh & U T AT Torrar g $o 110 WA, & AT F 313871 4l 1 a7 330 #LA. 81§57 & ToRA 3R
Uga & U Ve gRT G Tt gl BT U B

1.3:6
2.4:1
3.4:3

4.2:1

Correct Answer :-

33) When sound travels through air, the air particles ___ ./

SIS f §aT1 & AT | AT R €, 9§41 Bl |

1. do not vibrate. / U :ﬁ)[aﬂﬁ %’I

2. vibrate along the direction of wave propagation. / W, TR GROT Bt 1%52'” 1Y Eﬁ_vﬂ % |
3. vibrate but not in any fixed direction. / HUT B % Qfe fassdt fga ﬁ'-‘?ﬂ b T-TE?[ 2G| % |

4. vibrate perpendicular to the direction of wave propagation. / I HTRUT D! 32N & daad HUT B § 1

Correct Answer :-

« vibrate along the direction of wave propagation. / HUH, I HRT P fa=m & Iq1y ?ﬁ?ﬂ %I



34) A convex mirror has a focal length ‘f” and it can produce an image that is 1/n th the size of the object. What will be the distance
of the object? /

TS 3T GUUT BT BIHIHIT ¢ B SR 98 9¥g & SATHR BT 1/n WA a7 W1 31 g D1 g8 = grfl2
1. n/v

2. f/in

3. f(n-1)

4. £(n-1)

Correct Answer :-

o £(n-1)

35) A proton, a deuteron and an I:j"-particle having the same kinetic energy enter a uniform magnetic field perpendicularly. The
radii of their circular paths are in the ratio i

UM TTfas Sl a1 TP Wk, YR 3R TP o-H VI, THHAT Jao 17 & H daad U J YA HId ¢ | I9P JuIdR Uy
Pt frear 71 erguTa Bl

1. 1:2:1

4 1:42:1

Correct Answer :-
. I

36) A vector multiplied by a scalar will be ./

TS ST | UM B W TP AW Gl

1. a vector or a scalar. /Wm SHYdl Uch sffewr

2. always a scalar. / THRI U i

3. always another vector in the same direction of the original vector. /
THR YR (FRIfa) TR 3w fo=n & T o wfewn

4. always another vector in the opposite direction of the original vector. /
THRN YR (qrifae) Afew o1 faudia fa=n # sy afdw

Correct Answer :-

» always another vector in the same direction of the original vector. /

THRM URMAS @rafasd) A & 9aF o= & te o afesr

37) A particle having a charge of 15 nC is brought from infinity to a point P by doing a work of 3.0 mJ. The potential at point P
is ./

3.0 mJ GRT BT FIF 15 pC HTA F TH BV I SF<IAT A TP g PR AT a1 figp R f@ya 71
1.100V
2. 250V
3.200 V

4.300 V



Correct Answer :-
e 200V

38) A particle of mass m strikes a wall normally with a velocity v and then its velocity is reversed. The change in momentum
is ./

mam%ﬁmwm,mzvaﬂﬁwaﬁawﬁmm%,aﬁ?ﬁmmﬂﬂwﬁas‘rm%lwﬁﬂﬁganuﬁa?h
[

1. -mv

2. -2my

3. mv

4. zero

Correct Answer :-
o 2my

39) The magnitude of resultant of two vectors is minimum when the angle between them is .
3 afe=n &1 ufvomdt ufemror, <Faw g @ 59 39 dig ST @ grar gl

1. B

2. 0°

3. 180°

4, 90°

Correct Answer :-

180°

40) A box contains equal molecules of oxygen and hydrogen and helium. If a fine hole is made in the box, then the gas that will leak
more rapidly is .

TP I | iTeRiIoT SR B3I SR Eiferaw & sR1aR 3] ffea 71 afe 9o o uer gea o< fvar oman 8, dt ag T =it
3iferep Serar & ofte gl gl

1. Hydrogen only / FHad E'E@TXFT

2. All at the same rate / TH! A &R |
3. Helium only / Had giferag

4. Oxygen only / FHad TR

Correct Answer :-

» Hydrogen only / HIA T 33 KB

41) Same gas is filled in two containers of same volume, same temperature and with pressure of ratio 1:2. The ratio of their rms
speeds is: /

U T, U aT9 3R 3UTd 1:2 & a1 & T1Y &) Ul B TP FHH 79 43 75 | IS SRTHTH ATl 7 3uTd 8:
1.1:2

2.2:1



4. 1:1

Correct Answer :-

42) Which one of the following is NOT applicable for a moving coil galvanometer in order to increase the current sensitivity? /

YRT GUTRAT 9811 8 TP I poall YR (G Farge feaadier) & forg Frafaf@d # & o a1 Suged & @2
1. Increasing the torsional constant of the wire / AR & Ilﬁ?{ (?m fRRi® o ‘q@

2. Increasing the area of the coil /m & & ﬁq@

3. Increase the magnetic field / W PER:] q@

4. Increase number of turns of the coil / W & W CaRic:IEe| q@

Correct Answer :-

« Increasing the torsional constant of the wire / AR & Ilﬁg (E'\m RRi® o q@

43) An electrical appliance draws 4A from a 230 V supply line. When the same appliance is connected to 110 V, the amount of
current drawn is ./

wﬁmngsovmmﬁMm%lma@ﬁmmaﬁnovﬁﬁﬁym%jﬁmm@ﬁ%ﬂﬁwaﬁ
T |

1.1.8A
2.15A
3.1.6 A

4. 191 A

Correct Answer :-
e« 191A

44) The current sensitivity of a moving coil galvanometer increases by 20% when its resistance increases by a factor 2 while
keeping the number of turns constant. The voltage sensitivity changes by .

TH Mfa=id Heclt ea-iier S YRT YU, 20% q% 96 ST 8, 99 HfaR1e, TUTal B T8I $i fRR TWd §UFRS 2 96
¢ 1T 8 | diee gInfRar I ufvafda gt g1

1. 20%
2. 40%
3. 30%

4. 10%

Correct Answer :-

o 40%
45) The density of a solid is 8.5 g/cm?®. Its relative density is Y
U B &1 Udcd 8.5 ARG’ B| SHEA WS Oecd B

1. 8.5 g/cm / 8.5 UTH./AH.
2.8.5g/8.5 UM

3.85/85

4 85cm/ 85 T



Correct Answer :-

e 85/85

46) The current “T"1s:/
ar T 8
10
R &7 4. A

10 1Q
AV AV

AV AT AU
10 10

“_/\/\/\
| " o, ¥
3

“

1. 0.5A /0.5 TR
2. 4A /4 THRR

3.0.66 A /0.66 THITAR
4. 8A / 8 THIRR

Correct Answer :-

« 0.66 A /0.66 TR

47) Two rocks each of mass 1000 kg are lying, one on Earth and the other on Moon. Ifle and Im are

their respective inertias, then: /

T 921, Toted & Ucddh T goddle 1000 fhell 8 U gl W AR g8 diq W ard gl
IfE Iz 3R v 3+ HAA: oI5cd &,

Iz and Im cannot be compared / le X v T AT FET HI ST Tl

le< Im

N

3. lE=1Im

= M
4 le>Im

Correct Answer :-

48) A solenoid of length 120 cm and radius 2.4 cm has five layers of 600 turns each. The magnetic
flux density at its centre on its axis when a steady current of 2.1 A passes through the coil is:

(take po = 411 X 107 NAZ) /
Ueh 120 THT oFa1s 3 2.4 3T B Fr oo 7 ucdie 600 Wi FTaig Wa &1 06 3T &
&5 O eI TG W= 4T BIEH, ST 2.1A T TR TRT S5l T Taried 6ol &
(AT TS0 o = 417 X 107 NAZ)
, 66X10°T
, 44X10°T

3 22X10° T



3
4 88X10°T

Correct Answer :-

66X10°T

49) The volume of 500 g sealed packet is 250 cm?. The density of water is 1 g/cm?2. Will the sealed packet sink or float

in water? [/
500 I & Eieeg U T ATa 2508 &1 aEh # g 1 /A §) e dee T A 59
ST AT A

1. The sealed packet remains suspended in water. / ieisig Uape Ut H fcifad gar g1

2. The sealed packet sinks in water. / Sieiag Udbe UM H §& ST 8|

3. The sealed packet floats in water. /%ﬁﬁ@ﬁﬁ%uﬁrﬁw%

4. The sealed packet moves around the water. / ictsig Oebe UM 7 IRY 3R T1fd HRaT 8 1

Correct Answer :-

+ The sealed packet sinks in water. /WWWﬁ@W%I

50) If Bohr radiusr, = 33pm, then the radius of Li™ ion in ground state, on the basis of Bohr model, will be

about il
aﬁ:aﬂﬁwrﬁis pm &, df =e&a#d 3aen #, &) Alsd & JER 91, LisAR= &
Trer eemeter g

1. 53 pm

2.3 pm

3.17.7 pm

4.9 pm

Correct Answer :-

Topic:- Chemistry

1) Which compound fits into the following descriptions?

o It has an alkali metal present in it.
¢ One of the elements in it is a halogen.
¢ When heated with concentrated sulphuric acid, it gives violet vapours. /

Fafafead e & R #19 w1 9 Suge 82

. 3R &Y YTy IUTRIT Ygar 71

. 9% IR aal # A U gl B

. Fiftd TerR® 3d F A1y T HIA W, gg A areg Tar B
1. Lithium oxide /W &Fmﬁg

2. Sodium iodide /@%utr 3'|T5h3'|3_6'

3. Potassium bromide /thmm

4. Calcium iodide /%i%}-zrqﬂ &I@GTE_G'

Correct Answer :-



« Sodium iodide / IfSTH 3MAISRS

2) Identify the acidic salt. /
Frafafeaa 9 @ srefta aqur &) vga=|

1. NaCl

NaHCO;
2.

NaNO;
Na;50,
4.

Correct Answer :-
NaHCO;

3) Identify the endothermic reaction. /

frafefaa # & S sifufssar &1 aaa #3:

Clyt Oz —»  COgy

Nag+3Hyy _ , 2NHyy

2.

AgBry, g ABs*Brayg
3.

2NHzyy 5 My 3Hyy
4,

Correct Answer :-

2MNHzyy 5 Ny 3Hyy

4) Identify the allotrope of carbon formed by hexagonal arrays placed in layers one above the other. /
P PT MUY UG St TR) # U g¥k & SR I g5 IeHh g wRoft gRT aar 3|

1. Fullerene /W:l

2. Graphite/‘3|'lfh—|37:.r

3. Diamond / BRI

4. Amorphous carbon / ifhteehig e

Correct Answer :-

. Graphite/‘BI'Cb—IE_Cr

5) An element having atomic number between 14 and 22 has completely filled shells. Identify the element. /
14 3R 22 F 9 WHIV-HHIS 9T TH dcd b HI T a8 W §U & | e Ugai=a |

1. Neon /ﬁ&ﬁq

2. Argon/ 3



3. Xenon /a:ﬁ,:f
4. Krypton /ﬁ?E'T:f

Correct Answer :-

e Argon/ 3

6) Chloralkali process is used for the manufacture of ./

FIR-&R (FRIRCPTS o) UiehaT T aRT ¥ frafor & R fear smar 21
1. zinc chloride / foids FARTES

2. calcium phosphate / TeRIIH BiThe

3. chlorine / AR

4. sodium hydroxide / QST g3 SIS

Correct Answer :-

« sodium hydroxide / TSI BRI RIS

7) The non-metal fibres which are used to make bullet-proof vest is: /
T8 TR-uTg BIgaR; o1 T gaey® I a9 § far wmar 3:
1. Carbon / HT&

2. Boron / AR

3. Sulphur / b}

4. lodine / 3TATSH

Correct Answer :-

* Boron /W:T

8) Which of the following evolves hydrogen gas when reacted with dilute nitric acid? /
7 ATETe® ot | ufafshar s W i § & i 1 0 15 Ioi 9 el 32
1. Cu

2. Mg

3.Zn

4. Au

Correct Answer :-

9) Which of the following is a major air pollutant? /

frafafea 3 @ $19 v ugE ag ugue &7
1. Sulphur vapour / deth? di]

2 @

NO;

N



Correct Answer :-

NO;

10) The substance which is responsible for the hardness of water is ./

e B B kel ¥ g Iwverd wgrd .l
1. magnesium nitrate /ﬁmﬁ?@?

2. magnesium oxide /ﬁ;ﬂﬁmn \?rl'\l%}'\‘:l'l'si_s'

3. calcium bicarbonate /mm

4. calcium nitrate /Wﬂﬂ?@?

Correct Answer :-

o calcium bicarbonate /mm

11) The vitamin which is excreted in urine by human is: /
9¢ fae1fE, St wgw gRT d2re # Sffa g :

1. Vitamin ¢ / fderfim ¢

2. Vitamin £/ faei® £

3. Vitamin K / faerfiq «

4. vitamin A / faTif®= A

Correct Answer :-

« Vitamin ¢/ f3erfiF C

12) What happens to the kinetic energy of the particles of matter when it is heated?/
% & HUN Bt TS SHull BT T FHAT § I S IRA fFar Sirar g2

1. Remains the same /W@?ﬁ %l

2. First decreases and then increases / ‘TE!@I ‘EIE_Cﬁ % G?IT ﬁb_f aa‘cﬁ %I

3. Decreases / ¢ STt %I

4. Increases / d@ STt %I

Correct Answer :-

o Increases / dg STt %I

13) Flour in water and river water carrying mud represents a : /

3me B gl ok 1t F gt g ol o F 2 o amfan @:
1. Gel / 91

2. Emulsion / SHERM (UTIH)

3. Foam / ST

4. Suspension / &

Correct Answer :-

» Suspension / fAde



14) Sulphur powder is mixed with iron filings and divided into two portions, X and Y. Portion X is heated and portion Y is not
heated. The gases evolved when dilute HCI is added to both respectively are: /

TP UTSST P! dle & §RIS $ TrY fAfSa fvar wirar @ aur ) Rt x aur v & fawrfora far simar 21 fexd x &t ok fan
STaT 8 9T e Y Y 7 1Y e e @1 59 At § 9 nel frema siman @ a9 faw e 8 areft i s §

Sand H,5 / S Td H,S
N H;and O, / H, Td 0,

H;SandH; [ H,5Td H;

H.SandS /| H,STdS

Correct Answer :-
H.Sand H, / HS5Td H,

15) Atomic number of magnesium is 12 and mass number is 24. Calculate the number of electrons, protons and neutrons in the ion
formed from it respectively. / AR 5 UIATU] TWAT 12 TUT FHHH =T 24 1 399 FAfifa sma= & srasr: gaeei=), wel=t
YT Il B T3 Pt TUAET B |

n.=14,n,=12, n,=10

n.=10,n,=12_n,=10

2.

n.=10,n,=12.n,=12
3.

n.=12,n,=12,n,=12
4.

Correct Answer :-
n.=10,n,=12 n,=12

16) A plastic comb gets charged, when dry hair is combed. This shows: /

TP WP ot $YT ATART 81 SITelt 3, 5Ta @ 1l HY St fvan oiman ¢ | 98 g2iar o:
1. Neutrons are negatively charged particles / QETT‘T FHUMART BT %l

2. An atom has a nucleus at the centre / Tch UIHIY] & W b Th T Eﬁ?ﬂ %I

3. The existence of charged particles in matter / gerd o 1Ak ot &1 T |

4. Electrons are negatively charged particles / sﬁﬁfjl:[ FUMARIT BT %I

Correct Answer :-

« The existence of charged particles in matter / Terd o SH1afRd ol &1 T |

17) Iron granules can be separated from tea dust by: /

T P YA (& $) A e BB THP GRT 3T P & Pl &
1. Filtration / Fda
2. Magnetic methods / W GRED

3. Distillation / STHd



4. Crystallization / fohxc iUl

Correct Answer :-

» Magnetic methods /ﬂaaﬂ?: R:D

18) Intermolecular force of attraction between the particles of matter decreases with an increase in: /
% & DHUN & a1 ATHYUT BT HARTIA[H o gfS & 91y gear gl

1. Mechanical energy only / Fad gifFs Sl

2. Both potential energy & kinetic energy/ fRufas St oiR et SHoif aHl

3. Kinetic energy only / Had TS Sl

4. Potential energy only / Fad fyfast St

Correct Answer :-

» Kinetic energy only / CENRIGERE

19) Gases can be liquefied by: /
i Y e g1 &3 fvan o woan &:

1. Applying pressure and reducing temperature / GI§ ¢TThY 3R ATIHM geThR

2. Applying pressure and increasing temperature / GI§ TTHR 3R AIHHE dglhR

3. Very less pressure and high temperature / §gd HH ld 3R 3= ATIHA

4. Removing pressure and increasing temperature / GI&l CIhX 3R 0T § [[JEE

Correct Answer :-

« Applying pressure and reducing temperature / Il T ThR 3R ATIHM "eThR

20) Identify the “Little boy” who played a vital role during the 20th century. /

< e afa &) wger B, R 209 STt & R Hgeyul et Frré A

1. First hydrogen bomb designed for warfare. / §& & feru fSeieA foban war ugen EE@TTFT SH|

2. First nuclear weapon dropped on Nagasaki. / AT R IR ugan URHIT] SRR

3. First nuclear weapon dropped on Hiroshima. / %@ﬁﬂ:ﬂ R R Ul UXHIY] B‘fatﬂ? |

4, First nuclear reactor designed to harness atomic energy. / UXHIU] ooll BT YA B & fore f&Srg A fovan wan ugan URHI U]

Correct Answer :-

« First nuclear weapon dropped on Hiroshima. / SRR IR fIRT Ugan TRH] BIRAR|

21) Identify the pairs of atoms which can be called as isobars. / m%ﬁﬁﬁsﬁaﬁ tl'gilﬁ, ﬁf% m (m) Dol ol
Tpar gl

U5 and op ThE! | o US T o ThE!
1.

17CB55 and 1,CE7 [ (;CI55 Wd ,C1F
2.

1gAf':' and 33(:&:'3 J'll_u,AI_"J Qa— _nga":'
3.

11313'3 and 15 Pl f1=Si3'3 W 15 Pl
4.



Correct Answer :-

13Af'3 and cha.iﬂ .I'llgAI_J':I W _13(:3.:'3

22) If ethyl bromide and methyl bromide are mixed in equal proportions and is treated with sodium in presence of ether, then the
number of possible organic products are N

gfe Tira SuTss ok Afa siuTss & I srgura ¥ frarar sirar 8 ok SR @t SufRufa & wifeaw & wry Iu=nfa fear
ST 8, A GYa S Seardl 1 wemn :

1.2
2.4
3.3

4.5

Correct Answer :-

23) Small droplets of liquids or particles of solids dispersed in a gas is called: /
w AR A Pl g R IS F Fur Fean 7 :

1. Gel / S1d

2. Emulsion / SHRIT (UTTH)

3. Foam / ST

4. Aerosol / qmﬂ
Correct Answer :-

e Aerosol / mﬁ

24) The correct sequence of temperature on converting 288 K, 363 K and 346 K to Celsius scale will be , respectively. /
288 K, 363 K T4 346 K ) AR wha & ufiafda #37 wR arqum= &1 98 ey susr: , B

1. 250C, 88°C and 66°C / 25°C, 88°C 3R 66°C

2. 250C, 950C and 78°C / 25°C, 95°C 3R 780C

3. 15°C, 95°C and 75°C / 15°C, 95°C 3R 75°C

4. 150C, 90°C and 73°C / 159C, 90°C 3R 73°C

Correct Answer :-

« 150C, 90°C and 73°C / 15°C, 90°C 3R 73°C

25) The number of atoms and molecules are generally represented in: /
TRATILSH 3R Srupsit @Y T Are: 39 e Y Wi @

1. Mole / qTH3{T]

2. Formula mass / {2 SHH

3. Atomic number / GRHTU[-SHHIH

4. Atomic mass / UXHI[ HR

Correct Answer :-



o Mole / UTHS{T]

26) The number of neutrons present in an alpha particle is: /

T b1 HUT A SUTRIT YeTH] 31 H=T 2
1.4
2.3
3.2
4.1

Correct Answer :-

27) The number of molecules in 0.05 mL of water is: /

0.05 mL ST ¥ Srupaii Ft T= 8:

1.08 x 1078

3.02 x 1073
2.

1.67 x 1071
3.

6.022 x 1023

Correct Answer :-

1.67 x 1071

28) The isotope which is used in treatment of cancer is: /
FIR P IUAR | YA {53 919 a1 GHRI 3

1. As-74

2. Co-60

3. lodine-131/ 3MAGH-131

4. Na-24

Correct Answer :-
e Co-60

29) The concentration of a solution can be increased by adding : /
o fdea= o1 Wi 59 fiereR serar s wedr g

1. Solute only / Fad faag

2. Solution only / &Had faaa

3. Both solvent and solute / faea® 3R faag gl

4. Solvent only / Fad faaras

Correct Answer :-

« Solute only / Fad faag



30) The percentage composition of carbon in carbon dioxideis __ ./
P SIZIHTFITSS A B S A Prufasaar 2l

1. 12%

2.27.2%

3.72.8%

4. 32%

Correct Answer :-
o 27.2%

31) Which of the following elements normally exist in liquid state? /
Frafifea # & o9 § q@, ATYRUE: 59 HawT A ¥6d 32

1. Chlorine and mercury / FARM Td TR

2. Todine and mercury / IS g IRt

3. Bromine and iodine / WQH \’fITq}Ié)FT

4. Bromine and mercury / W Qa W

Correct Answer :-

e Bromine and mercury / Eh'lﬂ:f LG ERERd |

32) Which of the following factors are responsible for the change in state of solid carbon dioxide when it is exposed to air? /
T4 & S | 3 W 319 BT SISAHTFASS B a1 # ulvad= & ford Frafafea # @ 919 3 oR® Swar 32
i. Increase in pressure  / mﬁq@

ii. Decrease in pressure / E‘.'Iﬁﬁfﬂﬂ

iii. Increase in temperature / Wﬁq@

iv. Decrease in temperature / mﬁaﬂﬂ

1.1 & ii only / 9 i T4 ii

2.1 & iii only / ad i Ud iii

3.1i & iv only / Had ii T iv

4. ii & iii only / PA ii T iii

Correct Answer :-

» ii &iii only/ &Had i U4 iii

33) Which of the following is a homogeneous mixture? /

frafafaa 7 @ gerda g T ars?
1. Ink / 81

2. Glass /$T?[
3. Brass / Uladl

4. Milk / QY

Correct Answer :-



« Brass/Tidd

34) Which of the following correctly represents 540g of water? /
540 TR oT@ Y FRafafed & 9 919 98t 9 efar 32

1. 3 moles of water / STd & 3 WG{Ula‘ﬁ

2. 20 moles of water / STl & 20 Wﬂ\’rh

3. 2 moles of water / ST & 2 ‘;I'I'J:[&I'@a'ﬁ

4. 30 moles of water / 5Icl & 30 WGTU\I\H-T

Correct Answer :-

« 30 moles of water / STd & 30 ‘;I'IITGTUlGﬁ

35) Which of the following pairs is the CORRECT example of isobars? /

frafafad 7 @ 19 91 SieT FaHIRS (IMSHEIR) BT TS 3180 82

1Hand 3H | 1HWd 3H

13_33 E.nd 1513 _|'I 13_33 Qﬂ-' 13_13
35cland ¥c1 J Bl wd el
104r and 33Ca / 24r wd $Ca

Correct Answer :-

iodr and 30Ca / jpAT UF 30Ca

36) Which one of the following statements is INCORRECT according to the Third law of thermodynamics? /
TP & day o & uR, Fafaf@e § Q@ s sy Taa 82

1. At OK, in a crystalline solid there is absolutely no molecular vibrations and hence its entropy is zero. / 0K U, TUch freaa s o tl;Uf

U A BIE MU b Tt Bt 3R 3ATery 3qep! UweTdh 3 gt 21
2. Entropy of a solution is not zero at 0K. /Qaaﬁm?ﬁ@”mﬁ, OKWWﬁm%l

3. Entropy of a pure crystalline substance approaches zero as the temperature approaches absolute zero. / U [ fopeectia gerd ot Q'_g"\lﬁd)f
Y[ Ugd Ol § OIS AT9H ORH [ W Ugadi 3|

4. Entropy of a super cooled liquid is zero at 0K. / U 3{f=fifaid ga &1 Q?:d , OK IR [k
Correct Answer :-
« Entropy of a super cooled liquid is zero at 0K. / Udh Sffaefifaa ad ﬁQ?jﬁdbf, OK WX X[ Eﬁ?‘ﬂ %I

37) Which one of the following statements is INCORRECT about liquid? /
FaffRT I P T PYT saF IR A Tad 8:
1. Cooling is caused by evaporation / Tdcd, AT & HRUT 1T 51

2. Change of substance from liquid to solid state occur only at a particular temperature / e o 5a 9 31 a1 § uRad- Fad Th
frSy oA W g B |

3. Evaporation occurs below the boiling point of liquid / R, g & HYD ﬁ'g’ EEIERGIE]



4. Boiling point of a liquid decreases as the pressure acting over the liquid increases. / -0 §d R HRRA gad | q@ gdig, Sd &
HYID | HH STl 31

Correct Answer :-

» Boiling point of a liquid decreases as the pressure acting over the liquid increases. / S-Sy %9 IR HRRd garg q@ Eﬁ?ﬁ %, Tdd
HYATS T B STt B

38) Which one of the following hydrocarbons will have the minimum boiling point? /
Frafafae sresiery ¥ A foae sy=ie fAgaw g

1. Neopentane / IBEIRE]

2. Isopentane / &ﬂgﬂ-ﬁ%:f

3. 1-Pentene / 1-9v¢A

4. n-Pentane / n-U=e+1

Correct Answer :-

« Neopentane / st

39) Water vapour can be removed from air by ./
&1 ST arSd Y ECTIT S W B

1. fusion /m‘ﬁfwm

2. partial diffusion / 371 faaRUr gRI

0 .
3. passing it over a surface and cooled to a temperature below 0°C / 0%c 3 o9 amuEH Tl St Idg & W I ToIRd gq
4. occlusion / SfYYRUT gRT

Correct Answer :-

o .
» passing it over a surface and cooled to a temperature below 0°C / 0%C ¥ &7 qUEH Il et W% SR I ERd Y

40) An element has an atomic weight 40 and atomic number 18, the number of electron, proton and neutron in it will
be , respectively. /

T I BT YTHTY] U 40 Td TIHTY] HEAT 18 B, SHH e, WieT Ud el &) Te HH: il
1.22,18,and 18 /22, 18, 3R 18

2. 40, 18, and 40 / 40, 18, 3R 40

3.18,22,and 18 /18, 22, 3R 18

4.18,18,and 22/ 18, 18, 3R 22

Correct Answer :-

. 18,18,and 22/ 18, 18, 3R 22

41) If 12 gram of carbon has x atoms, then the number of atoms in 12 g of magnesium will be: /
Tfe 12 I ST H x WRUTY §, 1 12 90 AR & grmpei @t @@ gt
1. 2x

2. 3x

ko |



(%)
|

Correct Answer :-

k|

42) Chlorine reacts with saturated hydrocarbons at room temperature in the )

AW S AN W TN, W gEg e & 6y fifpar srar g
1. presence of water / STdl &1 JURRITAT

2. presence of HCl / HCl @1 JufRufd

3. presence of sunlight / I & TR &1 IUfRUfA

4. absence of sunlight /ﬁ?{f%maﬁ ﬁmﬁ

Correct Answer :-

« presence of sunlight /133{[37 BT b1 Ui

43) .
The formula for the compound formed between Pb™2 and PO~ is: |

Pb*2 #R PO, & dra &= e & forw T acrs:
Pb2(PO4)s

Pb (PO4)2
2.
Pba(POun2

Pb2(PO4)
4,

Correct Answer :-
Pba(PO4)2

44)

Correct and balance the given equation: /
fgw arv wefiEor @ WEr @ Aford HIoRE:

Mg + H;0 ——» MgOH + H

Mg+ H,0 —» Mg(OH), + H
1.

Mg + 2H,0 —» 2MgOH + H;

Mg + 2H,0 —» Mg(OH); + H;
3.

2Mg + H,0 — 3  Mg(OH); + H;
4,

Correct Answer :-



Mg + 2H,0 —» Mg(OH); + H;

45) In the following reaction, identify the oxidising agent. /

farAfafad Afafear # e e S TGae S
Zns + FeS04.; ——» InSOy., + Fey

1. Fe

2.Zn

Zn50,
3.

Fe50,
4.

Correct Answer :-

Fe50,

46
) Predict the product of the following reaction. /

frfaf@a sfafear & 3cag & galgAE damsv

SO;+ H;O ——» 7

H:50.
HzSzO}
Hz505

Hz5:0
4. FRELS

Correct Answer :-

H;50,

47)  Which of the following statements about Rutherford’s model of an atom are correct?
(1) Nucleus is a dense, heavy and positively charged part in an atom
(i1) Confirmed that the a-particles are four times as heavy as hydrogen atom
(ii1) Can be compared to solar system

(1v) Electrons are present at very close to the nucleus in an atom /
TIBIE & TH A Azl & vy # ReaRa # a Fg o s vw
() S T RA] H TF HuA, A g;T GARRT o g
(i) swhr g g T & & o- FoL FSSTT KA F TR T A0F o B
(i) HIT FOMET ¥ JelelT I =T Febll &
(iv) T WA A FoEEIA AR & 9gd FU Heg T g

1. Statements (i), (iii) and (iv) only / FHad HYT @), (i) Td (iv)
2. Statements (i) and (iii) only / HId HYA (i) U (iii)
3. Statements (i) and (ii) only / Had HYA (i) T (ii)

4. Statements (i), (ii) and (iii) only / Bad B (i), (ii) T (iii)



Correct Answer :-

» Statements (i) and (iii) only / Had Y (i) T (i)

48)
The respective formula unit mass of CaCl; and K;CO; are:
[Given: Atomic masses of Ca=40u, O=16u, K=39u,C=12u,Cl=35.5u]/

CaCl, 3R KoCO; ¥ TefHid §F gog §0d HA &
[feam = & : Ca & STA] FeAHART = 40u, O F AT FeIAT = 16u, K FH AT AR =39 u, C

E3) QTFITU;I' SHATAT =12 u, Cl &1 qTFlTU;l' SO AT = 35.5 u)
1. 75.5u, 99u
2.75.5u, 138u

3. 111u, 138u

4. 111u, 99u

Correct Answer :-

e I11u, 138u

49
) Identify the Al** ion from the figures where n and p represent the number of neutrons and protons. /

o & & AP 30 7 I69= L6 n T p FAW: Tl T Fiel=t T FTEm BT =Foiad
T B



Correct Answer :-

50)
The average atomic mass of a sample of an element X is 10.8 u. What are the percentages ofisotopes
UX and 7X in the sample? /
Ueh ded X & = T HEd WA acd AT 10.8u 81 A« # gaeafaemt {x T Ly dr
giderdan #r &
VX (80%) & WX (20%)
1.
YX (11%) & X (89%)
2.
X (20%) & UX (80%)
3.
X (50%) & 'TX (50%)
4.

Correct Answer :-
VX (80%) & X (20%)

Topic:- Maths

1) In two concentric circles of radii 4cm and Scm with centre 'O', OA is the radius of the smaller circle. If P and Q are the points on
the larger circle such that PQ is perpendicular to OA at A, then the length of PQ is ./

F% 0 mﬁmﬁ’raﬁ?sﬁﬁaﬁﬁmmﬁa‘rmqﬁﬁ oABR I BRI alR e mAr @R NigsaueR & fw
PQ,AWOA%W% dpoFrEEs

1. 80m/8@'1:ﬁ
2. 12cm / 129t

3. 10cm / 109#
4. 6cm / 6THT



Correct Answer :-

. 6cm/ 69H

2) If the line 4x + Sy = 40 cuts the x axis at A and y axis at B, then the area of triangle AOB (in sq units) is: /

Tfe I@T 4x + 5y = 40, x & BT A W 3R y 34& B B R FIal g, dl BAHIT A0B FT &7%d (@ 5H1S ) N
1.40

2.25

3.35

4.20

Correct Answer :-

3) If the product of two consecutive odd integers is 323, then find quadratic equation is: /
gfe qt uTTa faww quifet &1 quHta 323 8, ot fgardta Tfieror & arsu:

1 x+3x-323=0

2 3723 =
2-x+x3._3 0

X -2x+323=0
3.
x2+2x-323 =0

Correct Answer :-

x2+2x-323 =0

4) A card is drawn from a pack of well shuffled 52 playing cards. The probability that the card is black and queen is : /

ISt ¥ A e T 52 AT & Ui} 9Tel U | Up o120 BT U= FHipran 17| 59! fd=it Uifiepan @ b o<1 &1 v eran

5
1 13

e

Correct Answer :-
1
26

5) ABCD is a rectangle. If AB + BC = 14cm and AC + BD = 20cm, then the length BC of the rectangle is: /

ABCD U® 31U 81 Tfe AB + BC = 148} 3R AC + BD = 209HY, &Y 3mud # BC F} &aTS ©:



1. 5em / 59t
2. 8cm / 8THT
3. 4cm/ 4941
4. 9cm / 94t

Correct Answer :-

o 8cm/8TH

6) In a binomial distribution, the mean is 4 and variance is 3. What will be its mode ? /
TS fgue g o, ATed 4 UG YRIR01 3 B | SUPT 950D TSN 2

1.5

7) In aright triangle ABC, right angled at B, if tanA = 1, then 3cosecA — 2secA = ./
TP UV FAYS ABC H, Siifd B UX GUSHIUT B, UFS tanA = 1, & 3cosecA — 2secA = .

1.0

8) The number of ways in which the letters of the word “DELHI” be arranged so that the letters E and H occupy only even places is
./

e “DELHI” P &R PT__ ddiop! A oqafyd fpar o A €, O 31&R E U9 H $ad 0 ™M R A 81
1. 18
2. 10
3.12

4.6

Correct Answer :-

9) The radii OA and OB of two concentric circles with centre “O” are 9cm and 6cm, respectively. PA and PB are tangents to these
circles from an external point “P”. If the length of tangent PA to the larger circle is 12cm, then the length of the tangent PB to the
smaller circle (in cm) is ./



F% «0” aTd gl gl Il BI AU 0A TF OB, HHT: 9 AH TG 6 AHI § | TP qrafag «p” | 37 gl & g T=f @8 pA T
pB &= Y| 9 92 g9 &1 Tu=i a7 PA P daTs 12 T B, A B g9 P =i Y@ P B wars (@ H) gl

54J6
1.

/15
24/13

3121

Correct Answer :-

10) The value of sin25 sin65-co0s25 cos65 is: /
sin25 sin65-cos25 cos65 BT HIT %z

1.0

11) The quadratic equation which cannot be factorized into a product of real linear factors is: /
ferama wfterv, et arafas Wa® et & uHea § uEs T8 f5ar o g s:

i x2+4x+1=0

5. x2-5x+6=0
x2-3x+11=0
3.

249w _ 4=
4.x 2x-4=0

Correct Answer :-

12) Which of the following will have 6 in their unit’s place? /
fFrafafea & & frad 3918 & RIM R 6 g

1232
332

2342



Correct Answer :-

2342

13) The mean of 5 numbers is 399 and if one number is excluded the mean of the remaining numbers becomes 398, then the
excluded numbers is: /

5 ST BT AT 399 B 3N TfS T H©n o1 geT four o 2, ot A0 Fewmail &1 A1ed 398 Y S 8, fHrepredl 7 we
1. 403

2. 350

3.399

4,423

Correct Answer :-

e 403

14) The co-ordinates of the foot of the perpendicular from (-6, 2) on the x axisis______ . /
x & W (-6, 2) ¥ wHUR ¥ FéEe 6l

1. (2,0)

2.(0,2)

3. (-6,0)

4. (0,-6)

Correct Answer :-

15) The perimeter of a triangle is 20cm and if its two sides are 5cm and 8cm, then its area is: /

TP Y &1 aRur 20 i B TuT Afe 3Tt ) YTt 5 At i 8 At §, a9 3T FAw B
15 an?/ 15 THR

24cm? | 24 HHE

1242 am? [ 1242 THE
3.

4 1043 am?/ 1043 GHPE

Correct Answer :-
1043 am?/ 1043 THE

16) The perimeter of a sector of angle 30° of a circle with radius 21cmis: /
2137} BT a1 TH 99 & 30° FHIUT F TP Yo (WS) BT URA 8:

1. 60cm / 60

2. 53cm / 539

3. 32cm /329

4. 42cm / 429+



Correct Answer :-
« 53cm/ 539

17) A letter is chosen at random from the letters of the word "TRANSISTOR". The probability that the letter chosen is a
consonant is: /

TS "TRANSISTOR" & 3R} q TSP 3f&R UefDHdr A Tuf~d far Tar| Tuf~d 3R e oA g, 39! Uil fral g:

2

| ow

Correct Answer :-

18) If a sphere of diameter 8cm is melted and recast onto small spherical balls each of radius 8mm, then the number of balls
obtained is: /

a%sﬁtﬂ;:mmﬁwrhﬁﬁﬁaw,sﬁwﬁﬁmmﬁaﬁ-@ﬁm%rﬁ?ﬁﬁgﬂ:mm%ﬂﬁmgﬁmﬁﬁﬁaﬁ
P ST &:

1. 125
2. 110
3.250

4,200

Correct Answer :-

19) P(a, b) is the midpoint of the line segment joining the points A(7, k) and B(1, 1). If 3a — b = 10, then the distance AB
= ./

P(a, b), fgait A(7, k) 3R B(1, 1) ®! Wil &) Y@1 TS HT1Awfdg 21 afd 3a—b = 10, A GHAB = I
1. 8cm/ ST
2. 6cm / 6¥HT

3 445 cm | 44/STAT

4 2410 cm / 24/10 G=T

Correct Answer :-

2410 cm / 24/10 G=T



If fis an acute angle, then sec? &-tan? 6=7 [

afg 6 =41 FIT &, o sec? 6-tan? 6=7

cot? §-cosec? @
cos 6% sin &

®
3, cos 6% sec @

sin &* tan &

Correct Answer :-

cos 8% sec &

21) In the given figure, AABC is a right angle triangle. Definetan L C_/
&1 915 IMHT A, AABC T FHHIT B §] tan L C FT IReNAT S0
Al
B C

1. BC/AB

2. BC/AC

3. AB/AC

4. AB/BC

Correct Answer :-
« AB/BC

22) .
5 3
If the sum and product of zeros of a quadratic polvnomial are = and = respectively, then the quadratic

pobmomial is: /

e, giaaha dg9e & Al & AT N AR HA: 3?'!'{% & o g g9 &

k2 | Lh

Ixt-5x -2
4,

Correct Answer :-



In the adjoining figure,
SP and SR are tangents from an

external point *5° to the circle with centre “0°.

If /RSO =24" then ,PQR=____/
Tered T #, SPIHNSR, 967 fig 5"/ HZ 0° T Icd W TRI@C G

afg sLRSO=24", @1 £,PQR=___|

3. 66
4,48°

Correct Answer :-

24 :
) Two lmes AB and CD mtersectat'Q’. £ +BOCis 85", then ~COA +2BOD =7 [

o @t AB wd CD, ‘0" 7Y 9iacafed o §1 I £BOC= 85% & af 2COA +£BOD =7
1.175°
2.170°
3.185°

4, 190°

Correct Answer :-

25
) The distance between the planes x + 2y +z 4+ 2 =0and 2x + 4y + 2z =5 is A

ol x+2y+z+2=00d 2x+4y+2z=5 & ¥ HI g¥ &l

PR

=5
ml

=
Sk

R



Correct Answer :-

xsecx +x—1+C
xsecfx -Vx—1+C
xsecyx -yx+1+C
4 X seclfx +4x+1+C

Correct Answer :-

xsecfx -4x—1+C

27
) If the circumference of a circle is 14w cm, then the area of the quadrant {in cm?)is A
I T ded $I INT 140 AT §, o S5 TIURN FT &EHe (AT ) gl
1.52
2.38.5
3.77
4.46.2

Correct Answer :-

e 385

28 Simplify: (%')_3 - 2(2?)15 (2F + (:;}‘—;J;

T e (3)7-2075 0 + (3

(=

5
1, 8

Lh
w | &

—
[ ]
Ln

(o]

Correct Answer :-



Find x, if logax = -5./
g loga x = -5, df x AT HT

| =

K| =

Correct Answer :-

.7

. 32

30) . o . .
In triangle ABC, AD divides #BAC in theratio 2 - 3 and BD=AD_If
side BA is produced to E such that #CAE =115% then #ACB =7 /
3T ABC #, £BAC &I AD, 2:3 & 3fe[urd # fastiioid
&l & d9T BD = AD §1 32 #9 BA ¥ E &1 30 TR
T & S & ZCAE=115°1, 99 2ACB=?

1.82°

2.89°

3.78°

4.95°

Correct Answer :-

o

« 89

31 ; ' Ve VT2 [7-2 = .
) If “a” and *b” are rational numbers, then the values of “a” and b’ 1n% xﬂ“; -= a+by7is:/
'V . '\u' -
7 2 vd b IRFHEN B, 2 x TS = a+byV7 # 2 T b H AR A e
W =

V72

a:‘_ll:b:_
1. 4

a=2 p="2

3 3

2.

Gt ot
3. 3 3

il oot
4.

32
) If x =2 and x =- 3 are the roots of the polynomial f(x)=2x% +ax? -11x +b, then the values of'a’and'b’

respectively are: /

g x=2wx=-3, 9gug f{x)=2x%+ax?-1lx+b F A7 & 0F "a" @ b" & AW FHAA: §



3.256

4. 64

Correct Answer :-

34) The area enclosed by the curves 3x? + 3y =32 and v = | x - 2|
is A

TH 3x2+ 5y =32Td y=|x-2| & CaN UNa& &7 _____ ¥
1. 32 sq units / 32 T SHTSAT

33 z 33 wr
= squnits / = I SHISAT
17 x 17 o
— squmits / — adr SehIod
17 i 17 =
< squits / T ST

Correct Answer :-

33 . 33 o
= squnits / = T sHISAT

35)  Ifthe curved surface area of a right circular cylinder of height 8cm is 96w cm?, then its radius is: /
I 8 T 59 0 @ goad I B aF SO A6 96nWAL §, dd ST HiedT &

1. 2cm /2 94t

2. 3cm /3 9H

3. 6cm / 6 T

4. 4cm /4 9T

Correct Answer :-

. 6cm/6@1ﬂ

36) Find the next temm of the arithmetic progression 12 , /48, 41087 /
THIIL HRGT 412 , 38 . /108 &I 33Tel Ug adse?



, V192
p V148
3, V216
4. V164

Correct Answer :-

37) The value of *k” for which the system of equations 2x+y—5=0and 6x +kyv—-15=0
has infmitely manv solutions is: /
‘k* T a8 AT ords TolT THET F6d 2x+v-5=0HN6x +ky—15=0 & HAdd: &5 gel
&

1.3

2.12

3.6

4.9

Correct Answer :-

38)
Simplify x22 + 3/ (x1)? where x and v are positive real numbers. /

x2y2 + 5[ (xy) 2 BT TS &Y, TGl x TT y STAcHS aRdided TE &

V (xy)3

Correct Answer :

V(xy)*
39)

a 0 0
If A={0 a 0| then |AdjA|=?/
0 0 a

a 0 0O
zﬂ%;A{o a o],a’r |adja|="

0 0 a



Correct Answer :-

40) . [ 41 31
) sin [sin 1=+ cos 1;] =7

1.0

1+2v6
AI+E

(1+2v’§)
6

Correct Answer :-

4.

1426
. &
41) 1 w™ mZn
If 1, w, w? are the cube root of wnity, then | 27 1 wt | =7/
w w1
1 ™ mzn
MG 1, w,w?, 5FE & OFHA 6, AN [ 02 1 @n| =2
w® w1
1.0
2.1
w
3.
4. @

42) J-eax(3+tanx} =

COoEX

secxttanx +C
esecxtanx +C
Jetanx+C
exgecx+C

Correct Answer :-



egecx+C

If 3 is one of the roots of the quadratic equation x2 +kx +3 =0 and the
equation K(x? + 2x) —m =0 has equal roots, then the value of ‘m”

is o

g afdrame THEOT x2+kx +3 =0 & Fell § ¥ & 7 3 &,

T FHIAOT K(x2 +2x)-m =0 & #FI A &, dl “m" & A
&l

44) mAPQR.PQ=PR. ¥ P=xmd »Q=4x then /P=7/
APQR#H, PQ=PR. Ifg ~P=xTd sQ=4x,dl £P="?

IS
al
N
L
R
]
el

in its simplified form is: /

T TP &9 5

]

L

]

L
ol ]
[~
0|

b
o]

2.7
3. 11

4.9

Correct Answer :-

e 3
46)
. .. x=3 _y-1 1-a,
Vector form of the line whose equauonlsxTz)ﬂ =T315 {

@ F aieer w9, ﬁmaa‘rmﬂa?{wx—f:)ﬂ:?%, GET

a
2

F=(i+2j—3k) +A(3i+j+k)
1.



F=(3t+j+k)+a(i+2j+3k)

F=(3t+j—k)+a(i+2j+3k)

F=(3t+j+k)+a(i+2j—3k)

Correct Answer :-
F=(3t+j+k)+a(i+2j—3k)

47 i i 3 o i e
) Progecuonof&:21+3}—6k0n3=21+}—2k15 =i

b=2i+j—2k Wa=2+3j—6k & GG gl

48
) The value of *k” for which the numbers 1 + &, Z-l— k, E +k arein GPis A

“K* & ag HA & formd e T@amd 1+ k2 + k= + k I0Mcal AET # B

| =

(%]

SR

|

Correct Answer :-

49) If points A(1, 0), B(a, 3), C(2, b) and D(-2, 4) are the vertices of a parallelogram ABCD, then the values of 'a’' and 'b’,
respectively, are ./

afe g A(1, 0), B(a, 3), C(2, b) Td D(-2, 4) TF JUMIR IgYsl ABCD & =i &, it 'a’ Td 'b' & W SHHT: gl
1.5,7
2.1,-4

3.-1,2



4.3,1

Correct Answer :-

50) If the side of an equilateral triangle and the diameter of a circle are in the ratio 1: 2, then the ratio of their
corresponding areas is: /

TUaTg YW F TP YT 3R TH 90 BT AW, 1: 2 F U | g, a9l I7P HafUad &wal BT Surd ghm:

ERE

Correct Answer :-
V3 :4n



